Reading Dominant and Recessive Pedigrees

Autosomal Dominant Pedigree
* autosomal means the gene is carried on one of the first 22 chromosomes, not the X chromosome.
This dominant condition shows a heterozygote (filled in completely because she HAS the trait) married to a homozygous recessive. 

· Every child of such a mating to have a 50% chance of receiving the mutant gene and of being affected. 

· There are no carriers because the gene is dominant

· Examples of autosomal dominant conditions include Huntington’s Disease, Tuberous sclerosis, neurofibromatosis and many other cancer causing mutations such as retinoblastoma

1. Label the generations to the left of each row.

2. Label each individual of each generation from left to right.

3. Label the possible genotypes for each individual on the pedigree.

4. How many children did I-1 and I-2 have? _____________________________________

5. How many of those children have the trait? ____________________________________

6. How many people in generation II have the trait? _______________________________

7. How are III – 2 and II – 4 related? ____________________________________________

Autosomal Recessive Pedigree
* autosomal means the gene is carried on one of the first 22 chromosomes, not the X chromosome.
A recessive trait will only manifest itself when homozygous. If it is a severe condition it will be unlikely that homozygotes will live to reproduce and thus most occurences of the condition will be in matings between two heterozygotes (or carriers). An autosomal recessive condition may be transmitted through a long line of carriers before, by ill chance two carriers mate. Then there will be a ¼ chance that any child will be affected. 

a) A 'typical' autosomal recessive pedigree, and b) an autosomal pedigree with inbreeding:
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1. Label the generations to the left of each row.

2. Label each individual of each generation from left to right.

3. Label the possible genotypes for each individual on the pedigree.

4. How many children did I-1 and I-2 have in pedigree A? _____________________________________

5. How many of those children have the trait in Pedigree A? ____________________________________

6. How many of those children carry the trait in pedigree A?____________________________________

7. How many people in generation III have the trait in pedigree A? _______________________________

8. How many children did I-1 and I-2 have in pedigree B? ______________________________________

9. How are III – 3 and III – 4 related in pedigree B? ____________________________________________

10. Who is the only individual in pedigree B with the trait? _______________________________________

